2 DH2IYNA 12 9N

Y1) .V 5w anm nn W5 9o momon momns nvaon anm Vo (1
v=w4+zPrYwRarynoe e Vo Nanyywa TV — V Mmoo
T)=w—2z1MzeWtrwe W qwno

20N MNYD TINY T HOARYD NMOINN D NN (N)

JINTD DTIND D2PNN MNYD TN MIOININ NVINN DD D ININ (2)
W = NP 5007000 non nYoonn oy Vo= R? N ()
[T]e nx wsn .Span{(1,0,1)}

MO T V — V2 C Syn »oyo 1m0 11309 nYaon anmn Vo (2
T =01 2T 5v 1 omsy 79y 100 0 DN 2D ININ D909

)N 0PN 2NN DY DPIVIIND OPINYON DNVINND GOIN 2D NN (3
20N NADINN MMYH NNN MDD

2907 MR TV — V- C Syn g nbaon anm Vo (4
.0»vNN 0N T 5v 07N8YN OO9YN D5 ONX PN OX MY TS T 5 o

T TS wan .V anmn Sy onsyd ooy oMvIaN S T v (5
TS = ST oN 7 DN mNy»

29NN NI TV — V =190 10000 mnna nveon anm Vv (6
Im(7T) = Im(7T%) »> W

0PV A € M,y (F) N¥0n Sy 08N ©NINN 2D wWIn (7
IR A (N)

B, B 070NN 0002 1 Tonn Vg nYaon anamn orp (3)

A=1E-v1 V-
NN NYaoHNN DY) F5 B, B 07On NN Dol on»p ()

A = [1]8-v 15 (momvon

YN0 TN N2 NYAIN AN YY HNIM MVIR TV — V e (8
D IO DNV OYNNY DI DRNNN T OV 0708y DNOPY v, u PN
{v,u)y =0



